Quiz V; F4360; 2:00 Class; Spring, 1998; page 1 of 2		Name ______________________________





1.  Assume that a project your firm is considering is believed to have the same risk as the firm’s existing assets.  How would you use the following information to estimate the risk of the project so that you can use this risk measure to calculate the required return on the project using the capital asset pricing model?





Beta of stock issued by the firm is 1.4


Standard deviation of returns on the stock issued by the firm is 45%


Beta of the bonds issued by the firm is 0.3


Standard deviation of returns on the bonds issued by the firm is 21%


Market value of the firm’s stock is $1,000,000.


Book value of the firm’s stock is $250,000.


Market value of the firm’s bonds is $350,00.


Book value of the firm’s bonds is $375,000.


Firm’s marginal tax rate is 35%.

















2.  What are two ways that using the average asset beta for firms in the same industry as a project can give a better estimate of the beta of the project?

















3.  Suppose you are planning to launch into a new line of business and that you plan to estimate the risk of the new business by using the average asset beta for firms in the same industry as the project.  Why might this estimate be a poor measure of therisk of the project?

















4.  Assume that you are planning to use your firm’s cost of capital as an estimate of the required return on a new project that the firm is planning to undertake.  Under what conditions would this be a reasonable approach?

















5.  Assume that you are pretty sure that a project your firm is planning to undertake has greater risk than the assets already owned by the firm.  What type of mistake might you make in your capital budgeting decision if you use the firm’s weighted average cost of capital as the required return on the project?

















6.  What is sensitivity analysis?
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Use the following information to answer questions 7, 8 and 9.





You have just invested $1,750,000 in a new factory that will be depreciated over its 10-year useful life using straight line depreciation.  The fixed-cost associated with the plant will be $150,000 per year.  The variable cost per unit manufactured will be $4.85 and the sales price per unit would be $6.00 per unit.  The tax rate for your firm is 35%.  You boss has asked you to determine how many units of the product you will have to sell just to break even in terms of net present value assuming that the required return on th project is 11.5%





7.  What would you enter for EAC in the breakeven equation?

















8. What would you enter for Dep in the breakeven equation?

















9.  What would you enter for VC in the breakeven equation?

















10.  Assume that if a project currently under consideration is a failure it can be abandoned and your boss has asked you to determine the impact of this potential abandonment on the value of the project to the firm.  Is this possible abandonment more like buying a call, selling a call, buying a put, or selling a put?








